Machine a écrire (typewriter)

Machine a écrire (typewriter)

Caractere :
1-lettre ou espace ou ? . SBR touche

2-chiffre ' () ; x2 vx / x - + = SBR 2nd touche

3-impression SBR 2nd PRT
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STO|064 STOOORC*00/1EE8=STOOS5INVINT*1EE10=ST*00
RCL (05 INT EXC 06 SM* 00 DSZ 00 00 05

1 EE|8 X/T RCL 01 GE 00 50

INV EE CLR R/S

LBL PRT INV EE OP 00 CLR EXC 01 OP 01 CLR EXC 02 OP 02 CLR EXC 03 OP
03 CLR EXC 04 OP 04 OP 05 CLR R/S

NOP|NOP

LBL RST O RST

LBL PSZ 1 RST

LBL |[FF 2 RST

LBL DMS 3 RST

LBL Pl 4 RST

LBL GE 581

LBL 5TA 6 RST

LBL AVR 7 RST

LBL EQ 1 0RST

LBL NOP 11 RST

LBL OP 12 RST
LBLA13RST
LBLB14RST
LBLC 15RST
LBL P 16 RST
LBLE17RST
LBL RAD 2 0 RST
LBL [NV 21 RST
LBL ENX 2 2 RST
LBL CE 2 3 RST
LBL CLR 24 RST
LBL X/T 25 RST
LBL X2 2 6 RST
LBL SOR 2 7 RST
LBL 1/X 3 0 RST
LBL 5TO 31 RST
LBL RCL 32 RST
LBL UM 3 3 RST
LBL YX 34 RST
LBL EE3 5 RST
LBL (36 RST
LBL) 37 RST
LBL {4 0 RST
LBL[4 1 RST
LBLT4 2 RST
LBL 14 3RST
LBL +4 4 RST
LBL £45RST
LBL #+/- 4 6 RST
LBL GRD 4 7 RST

LBL PEG 50 RST
NOP|NOP 5 1 NOP
LBL COS 52 RST
LBL TAN 53 RST
NOP|NOP 5 4 NOP
LBL FIX55 RST
LBL INT 56 RST
LBL ADV 57 RST
NOP|NOP 6 0 NOP
NOP|NOP 6 1 NOP
NOP|NOP 6 2 NOP
LBL IXI 6 3 RST
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LBLLST 64 RST
LBL 5TF 6 5 RST
NOP|NOP 6 6 NOP
NOP|NOP 6 7 NOP
NOP|NOP 7 0 NOP
LBL GTO 7 1 RST
NOP|NOP 7 2 NOP
LBL 5IN 7 3 RST
NOP|NOP 7 4 NOP
NOP|NOP 7 5 NOP
NOP|NOP 7 6 NOP
NOP|NOP 7 7 NOP
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LABELS Adr Brangh. Reg. ‘nstr.

049 B9 PRT 005 031 97 DSZ 00 [003 42 STO
081 81 RST 050 04177 GE (gos 73 RC*
085 p7 DSz 0227251+

089 B7 IFF 029 74 SM*
093 88 DMS
097 B89 PI 01 03943 RCL
101 7 GE 055 48 EXC
105 78 STA
109 79 AVR 02 060 48 EXC
113 67 EQ
118 68 NOP 03 065 48 EXC
123 69 OP
128 111 A 04 070 48 EXC
13312 B
138 113 C 05 012 42 STO
143 14 D 024 43 RCL
148 15 E
153 70 RAD 06 000 42 STO
158 P2 INV 027 48 EXC
163 P3 LNX
168 P4 CE
173 b5 CLR
178 B2 XIT
183 B3 X2
188 B4 SQR
193 B5 1/X
198 412 STO
203 #3 RCL
208 14 SUM
213 45 YX
218 52 EE
223 53 (
228 54)
233 D3
238 55 /
243 B5 *
248 |75 -
253 85 +
258 D5 =
263 D4 +/-
268 80 GRD
273 60 DEG
283 B9 COS
288 B0 TAN
298 58 FIX
303 59 INT
308 B8 ADV
328 50 IXI
333 D0 LST
338 86 STF
358 1 GTO
368 B8 SIN
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